
 

 

 

 

 

rupahd tpilapd; fPo; NfhbLf. 

1. jdpegu; MNuhf;fpak; vdg;gLtJ 

(m) cly;> cs> r%f MNuhf;fpak;  (M) cly;> cs> MNuhf;fpak; 

(,) Md;kPf MNuhf;fpak;   (<) cly;> cs> r%f> Md;kPf MNuhf;fpak; 

2. ePu; khriltjhy; Vw;gLk; Neha; my;yhjJ 

(m) cau; FUjpaKf;fk;   (M) the;jpNgjp;  

(,) tapw;Nwhl;lk;    (<) Njhy; Neha;fs;; 

3. kdpju;fspd; Njitfs; gw;wp tpNrl Muha;r;rpfis Nkw;nfhz;ltu; 

(m) Mgpufhk; ypq;fd;   (M) Vgpufhk; kh];Nyh  

(,) rpf;kd; gpiul;   (<) epA+l;ld; 

4. tpl;lkpd; D FiwghL fhuzkhf Vw;glf;$ba Neha; 

(m) vd;GUf;fp  (M) FUjpr;Nrhif (,) khiyf;fz; (<) fz;lf;foiy 

5. tpjpKiwfSf;fpzq;f cgfuzq;fs;> cgfuzq;fspd;wp tiisahlg;gLk; tpisahl;L 

ahJ? 

(m) rpWtpisahl;Lf;fs;   (M) toptpisahl;Lf;fs;;  

(,) ngUtpisahl;Lf;fs;   (<) xOq;fikf;fg;gl;l tpisahl;Lf;fs; 

6. nthypNghy; tpisahl;by; xU mzpapy; ,lk;ngUk; tPuu;fspd; vz;zpf;if  

(m) 11 Ngu;  (M) 12 Ngu;  (,) 7 Ngu;  (<) 16 Ngu; 

 

 

jp/jp/Gdpj kupahs; fy;Yhup 

(Njrpa ghlrhiy) 

%d;whk; jtizg; guPl;ir– 2022 

RfhjhuKk; clw;fy;tpAk; 

 

juk; - 09    gFjp – 01  Neuk; - 2 kzpj;jpahyq;fs; 

 

 

   Grade -      Part – 01     Time -  
        

 



7. tiyg;ge;jhl;lj;ij ,yq;iff;F mwpKfg;gLj;jpatu; 

(m) tpy;ypak; [p. Nkhu;fd;  (M) nuhdhy;Nlh  

(,) n[dpfpwPd;    (<) ci]d; Nghy;l; 

8. mQ;rNyhl;l epfo;r;rpfisf;nfhz;l Nrhb 

(m) 4ù100M > 4ù400M   (M) 4ù400M > 400M  

(,) 4ù100 M> 400M   (<) 200M> 400M 

9. fPo;tUtdtw;Ws; ePsk; gha;jy; jpwd; my;yhjJ  

(m) mDfNyhl;lk;  (M) gwj;jy;   (,) epyk;gly;  (<) tpLtpj;jy; 

10. fl;bsikg; gUtf;fhy tanjy;iyahff; fUjg;gLtJ 

(m) gpwg;G – 1 taJ   (M) 1 taJ – 9 taJ   

(,) 10 taJ- 19 taJ  (<) 20 taJ – 59 taJ 

11. jPf;Ftpay; gad;gLj;jg;gLk; re;ju;g;gq;fs; 

(m) tpisahl;L tpoh (M) ,uTg; ghriu (,) Rje;jpu jpdk;; (<) ghlrhiy epfo;T 

12. Njhypy; Vw;glf;$ba Neha; my;yhjJ 

(m) nghLF Neha; (M) Gw;WNeha;  (,) gPw;NwhGs;sp (<) nrhwp> rpuq;F 

13. fz;zpd; MNuhf;fpj;jpw;F cjTk; tpw;wkpd; 

(m) tpw;wkpd; A (M) tpw;wkpd; B (,) tpw;wkpd; C (<) tpw;wkpd; E 

14. nrtpf;fhd Rfhjhu eilKiwahf mikahjJ 

(m) FLkpf;fuz;b %yk; nrtpapYs;s fhJf;FLkpfis mfw;Wjy;  

(M) nfhl;ld; gl;]; ,id nrtpapDs; ,Ltij jtpu;j;jy;   

(,) mjpf xypia Nfl;fhJ ,Uj;jy;    

(<) tpuy; efq;fshy; fhJfis filtij jtpu;jy; 

15. tpisahl;L tPuu; xUtuplk; fhzg;gLk; gz;G my;yhjJ 

(m) jiyikj;Jtk; (M) nraw;wpwd;;;  (,) gupTzu;T  (<) nghwhik 



16. fPo;tUtdtw;Ws; epiyf;Fj;Jg; gha;r;ryhf fUjg;gLtJ 

(m) ePsk; gha;jy; (M) cauk; gha;jy; ,) Kg;gha;r;ry; (<) Kay; gha;r;ry; 

17. cgfuzq;fspd;wp tpisahLk; tpisahl;lhf miktJ 

(m) fgb (M) $ilg;ge;J (,) fhw;ge;J  (<) vy;Ny 

18. Njrpa fPjk; ,irf;Fk; NghJ epw;;f Ntz;ba epiy  

(m) epkpu;e;J epw;wy;;    (M) ,yFtha; epw;wy;  

(,) nrsfupakha; epw;wy;   (<) ftdkha; epw;wy; 

19. kdpjDf;F epue;ju gw;fs; Kisf;Fk; fhyg;gFjp 

 (m) 5 – 11 taJ (M) 6 – 18 taJ (,) 6 – 12 taJ (<) 5 – 16 taJ 

20. jw;nghOJ cyifNa mr;RWj;Jk; nfhba Nehahf miktJ 

(m) fhrNeha;  (M) Gw;WNeha;  (,) kNyupah  (<) nfhnuhdh 

(2×20 = 40 Gs;spfs;) 

gFjp 11 

vitNaDk; %d;W tpdhf;fisj; njupTnra;J tpil vOJf. 

01.  

i. Nghrizj; Njit kaw;wkilAk; gUtq;fisAk; mtw;wpd; fhy vy;iyfisAk; 

Fwpg;gpLf. 

ii. tpNrl re;ju;g;gq;fSf;F mikthf Nghrizj; NjitAilNahu; 3 Ngiu vOJf. 

iii. fw;gpzpg; gUtj;jpy; jha;f;F cupa Nghriz fpilf;fhj NghJ gpwe;j Foe;ijf;F 

Vw;gLk; ghjpg;Gf;fs; 4 jUf. 

 (6 + 6+ 8 = 20 Gs;spfs;) 

 

02.  

i. fl;nlhd;wpy; fhzg;glNtz;ba rpwg;gpay;Gfisf; Fwpg;gpLf. 

ii. guthyhf gad;gLj;jg;gLk; fl;Lf;fs;> Kbr;Rf;fs; 6 jUf. 

iii. ntspf;fsj;jpy; Nkw;nfhs;sg;gLk; nraw;ghLfs; 4 jUf.  

(6 + 6 + 8 = 20 Gs;spfs;) 

 

 



03.  

i. jPf;Ftpay; mikf;Fk; NghJ ftdpf;fNtz;ba tplaq;fs; 3 vOJf. 

ii. jPf;Ftpaypd; tiffisf; Fwpg;gpLf.  

iii. jPf;Ftpay; vupg;gjdhy; fpilf;Fk; ed;ikfs; 4 jUf.. 

(6 + 6 + 8 = 20 Gs;spfs;) 

 

04.  

i. jpwe;j ntspapy; czT rikg;gjdhy; fpilf;Fk; ed;ikfs; 3 jUf. 

ii. jpwe;j ntspapy; czT rikg;gjw;F gad;gLj;jg;gLk; mLg;G tiffs; 6 ,idf; 

Fwpg;gpLf. 

iii. jpwe;j ntspapy; rikf;ff; $ba czT tiffs; 4 jUf. 

(6 + 6 + 8 = 20 Gs;spfs;) 

 

05.  

i. cauk; gha;jypy; gad;gLj;jg;gLk; El;gKiwfs; 5 jUf. 

ii. cauk; gha;jypd; jpwd;fs;/gbKiwfisf; Fwpg;gpLf. 

iii. cauk; gha;jypd; tpjpKiwfs; 4 jUf.  

(6 + 6 + 8= 20 Gs;spfs;) 

 

 

    

      


